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EMV = 10 = 0.5 (200)+0.5(-180) 







nisiiodaa~9idi EMV v t w ~ t . 6 ~ z ~ i ~ ~ ~ a . a  

1. n . idwanis81~a~(aln~~~on'~ iT j i~n1a~ 

EMV (node 2)  - - EMV (%59910d%~4 1 ~ f l d l ~ a 0 c a l i 3 1 ~ ~ )  

- - 0.78(190)+0.22(-190) 

- - 106.4 &~UPJIM 

EMV (node 3 )  - - EMV (%'IJJIUL&I / wndisa~mia%) 
- -- (~.78(90)+0.22(-30) 

- -. 63.6 &IPJPIIM 

EMV ?bjtf'f19%599?~d = - 10 612d 



&n'o 8iwadmaoonlniimnrnA n?rii;onA~:nhr~~qqiu1~~1X6, EMV 

106.4 ~YIUUIYI qsni im?ri~on8n7 

2. n ~ ~ w a r n s ~ ~ ~ a 0 ~ i l a 1 ~ 0 0 n 4 ~ i i i ~ n i ~ Y a i ~  

EMV (node 4) = EMV (15qqiu7~4  / wndisaomn1~llj4) 

- - 0.27(190)+0.73(-190) 

- - -87.4 # l U ' l l l ~  

EMV (node 3) = EMV (13o;rl~bfin / wnd~aanmaim!%jft) 

- - 0.27(90)+0.73(-30) 

- - 2.4 #iunr~n 

EMV %h;1919991~ - - 10 &td 

3. ~ 1 ~ 3 D d 0 ~ C l ~ a ' s H l  EMV V ~ W I I S ~ C U W W ~ F ~  

EMV (node 1) - EW (?~uF'~~IFI) 

t= 0.45 (106.4) + OS(2.4) 

- - 49.2 

4. ~ ~ ? ~ U ~ t l l 9 l  

EMV (node 6) = EMV ( ~ s s ~ H $ )  
= 0.5(200)+0.5(-180) 

1 10 #1u¶J1n 

EMV (node 7) - - EMV ( % f ~ ~ i f l )  

- - 0,5(100)+0.5(-20) 

- - 40 #~U'L~IW 

EMV Lld~f14 - - 0 "U1W 
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y ati~nimn%uoahy ad1atii5 (Expected value of Sample Information) 
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EVSI == (49.2 + 10) - 40 

-- - 19.2 6iueriw 

m~maizdnaiu'l?n~~~ai~~~e,pd'lwa (SENSITIVITY ANALYSIS) 



EMV (NODE 1) = 106.4P + (1-P) 2.4 

= 104P + 2.4 

~un'owsiuladlomnn~iuu'iozL~~~wani~di~~~~oan8~1'lum-ruan i iriigqni~ 0.36 
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a r ~ 5 i ~ w " n a - ~ u l a ~ i a n a 1 u d ~ 1 ~ ~ l w a  (Sensitivity Analysis) 




